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Instructions: 1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the hall supervisor immediately.
2) Only blue or black ink must be used to write and underline. Pencil
can be used to draw the diagrams.
Uil — 1 Part- |
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EaimhbsBas sl Bos allspr wllaaryd Ssids spsai.
MNote: (i) Answer all the questions.
(iChoose the most suitable answer from the given four alternatives and write
the option code with the corresponding answer.
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Match List - | with List - Il and select the answer.

List -1 List -ll

a) Niger i) Lowest literacy rate

b} Singapore i} Highast sex ratio

c) Burkina faso lii} Highest fertility rate
d) Latvis iv) Highest nutritional density Codes
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a) This model was given by Ernest Burgess in 1923

b} Letter E in the model indicates medium — class Residentials

¢) He envisaged that the development of a city outwards from a centre in concentric
zones in a ripple like fashion.

d) Letter B in the model indicates Zone in Transition
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Which of the following statements are incorrect?
i) Hydropower is a clean eco friendly and renewable energy.
iiy It contributes nearly 17% of the world electricity production.
iii) China has the largest potential of hydropower followed by Brazil, Indonesia,
Canada and Zaire.
iv) Canada is the largest producer of Hydro electricity in the world, followed by China.
a) i, ii, and i anly b) i, iii and iv only
c) i and v only d) i and ii only
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Which one is wrongly matched?
a) Inuits — Arctic region
b} Pygmies — Kalahari
c) Aborigines — South America
d) Paliyan — South India
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Which of the following is not the assumption of Vanthunen's model of agriculture
theory?
a) The Isolated State is surrounded by an unoccupiad wilderness.
b) The land of the State is completely flat and has no rvers or mountains to
interrupt the terrain.
¢) The soil quality and climate are not consistent throughout the State.
d) Farmers act to maximize profits.

6. wyeardEsTalldr smialing pussrar loTfsatls mhs Rlepassts,
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@) 646 Gumiflssr ) 374 Qs



Of the UNESCO's five levels of language risk, the number of definitely endangered
languages children do not speak is

a) 457 languages b) 970 languages
c) 646 languages d) 374 languages
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Which of the following is not supporting the Heartland theory of Mackinder?

a) The heartland is inaccessible from top because MNorth Sea, Morwegian Sea,
Barents Sea, Kara Sea, Laptev Sea, East Siberian Sea are all frozen-throughout
the ywear:

b} The hearland is inaccesible from the botiom because of Middle Eastern desert,
Iranian Plateau, Himalayas, Plateau's of Tibet and Siberian mountains.

¢} The only gateway to the heartland is through Eastern Europe.

d) This makes heartland immune to any conquests from any other side.

. IRNSS @iifwrailsy msdGaimman senwall g SEeais0 BFamey ol gsiEin

Loy T 6bT aTelemavmTen ) @S stsbsmeauuilel (Hb s ST RUETRY HTTLE
qusnraT T lufhSlng?
) 2300 £, o ) 2000 £, of &) 1000 £. F ) 1500 &2, o

IRNSS provides location information service to users in India and the region
extending from the Indian boundary for up to
a) 2300 km b) 2000 km c) 1000 km d) 1,500 km



9. dereumavarauheile srg nosodlanr syfBas saniisd?

| FerGau e gof e ) Fofil

@) Frduyngr ) L 10000
Which of the following is the fastest computer in the world?

a) Sunway TaihuLight b) Summit

¢) Pratyush d) Param 10000

100 s sbw b gleamscwirs guamBias e wibhy Dersmg maEn ._#:1$|Tu'q:
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@) 0.01 gpmsi 0.025 SF.uf w) 1 upged 0.25 Gla ol
Sea level nse is occurming per year steadily at the rate of

a) 0.01 to 0.25 centimetre b} 0.1 to 0.25 centimetre

¢) 0.1 to 0.025 centimetre d) 1 to 0.25 centimetre

. spmiFgupaisrsan wfodd (EIA) @b uraldmyrilas i aan@m?

) 1047 =) 1950 @) 1956 ) 1978
In which year was EIA introduced in India?
a) 1947 b) 1950 c) 1956 d) 1978

12, sirauBss MuiDamnslt UTHIsTOLE SRS oThS 6 Bt isshsSwhur s
ore lm Glerstenal il e S5 TGS
-} 1990 ) 1980 &) 1970 ) 1860
The Intemational Union for the Conservation of Nature introduced the term
"sustainable development in

a) 1990 b) 1980 &) 1970 d) 1960
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Which of the following is/are an essential characteristic/s of a Standard Urban Area?
(i} It should have a core town of a minimum population size of 50,000,
(i) The contiguous areas made up of other urban as well as rural adrﬁinistratlve units
should have close mutual sccio- economic links with the core town and
{iii) The: probabilities are that this entire area will get fully urbanised in a period of two
or three decades

a) (1), (ii) and (iii) b} (i) and (i) only
¢) (ii} and (i) only d) (iii) only

14. ailyg (Drop), ap® (Cover), uihg (Hold) s1sdrugy stgsirupdadu wrdlfic vuflp A7

) & =5, ) 560 (i @) uil sbrewr i o ) [Blsusiramin
It is important to practice Drop, Cover, Hold for
a) Fire b} Earthguake c) Lightning d) Flood
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Which one of the following is the rule of action for stampede?

a) Find lower place or cavity and squat there if the area is open.

b) Avoid rock slides and landslides if you are in the mountain.



¢} Keep your hands by your chest
d) Keep your head not higher than 30 cm above the floor.

uigg |l Part =l

&3y DErFesio farar ailrssais g3seph oy AWTTESIRES SHEswrs
allen wefl&sayn. 24 — g Bedralldm s L rnowrs alse srpsa) .
Answer any six questions. Question No. 24 is compulsory. Bx2=12

16. mempauren wasar_ i SSsEETan BT 61T Smerd Sa 0.

Mention the four reasons for low density of population

1T wgsu  susellswran’ L G@nsn(CBD)  vwenflsdr  webre s hsuilsn ulamrsr
Saimuun (Blssir [§irsiang snar sTgss.
Mention any two differences between CBD and commuter zone.

18. o_avaledr &G AW &rHo e akiSs ang? o i rsinr
ST T LB & T -5 6L BRI ATeT Lom e a7 7.
Where is the world's |argest wind farm located? In which state Jaisalmer wind park is
located?

18, prawasrin glenes Ssriflanssn mEsrn Blooad Barfarbsn o ssrar Caimurt e
TSI
Write the difference between Quaternary and Quinary sector.

20. e ayg Husp il Ganh ammaiu@isiuFAns? sauhans o,
On what basis the race is classified into? Name them.

21, dlyrwinns FHuulinlyseflar aensseman’ u s,
List the types of rural settlemant.



2 Gpfuralls g3 DHDL e Husd  Celayh  Godsdr  alsaud
) adorig ement e O il G
Mention any two places of tidal energy production in India.

23.Glerens mredvempesnialsr o wlliGysrer o srflssir = Wilidupn e sarullalmsa)
STEHSUT I %F@“Jﬁhﬂm@] ?
How is active sensor different from passive sensor of remote sensing?

24, cusnimeysalliv srelr Bl FTMmepLE SL ESEF L THT

Why we should not cross the roads at bends?

g NIl 7 Part— 11

srEsgnin S allaTrasenhEs @0 AR seraisl almiweafl&sa)b,
33-sug Gasmailés s runes s ailsme walldsab.
Answer any six (6] questions.

Question No.33 is compulsory. Gx3d=18

28.p wden Wfs0Eufw ghmn miflu ddrerr zododdl Sleeaiwd
6T 38 gy o b eiren &1 Y (B b AT aler e ol sy hmd 8 Hods) uhel opgs
Where is the world's single largest solar power plant in the world? Write about the
solar energy production in India.

26. allflaur &s iyl o Semanwrar Wyl Badod @l Swwrer srSaspih apadnm
Baumruir B &emsr & HOl o E .
Mantion any three differencaes between expansive population pyramid and stationary
population pyramid.

27 susriusmarts urgars s anfl penmsailsy o 3smun apsitiiensd @nlOE s,

Mention any three ways of consarnving resources,



28 (1POSlumeeat) GuwsrBarGuralen - sy aianrs,
Write a note on Megalopolis

29, ssurFFTT WANLSME ASHTWISS HEAT aphRwls diflasemars ol oG s,

Define cultural realm and mention its major divisions.

30, 8 _sray SFwbHensEEETeiET TEHEN0D APET LIGATLISSDE TSI,
Write any three characteristics of spy satellite.

31, Busmg s hasBuwburf @& smer Brusiors SianL Wl ) HTHEmer aupsis.
Name six countries achieving sustainable goals the fastest.

32, mrb ereir 2 Uy Benrdsriciggin heral i Seuswrs apg sl Gnrd?
Why are we drowning faster in fresh water than ocean water?

33. GLONASS unph s meEsurs alfar &g s.
Explain in brief about GLONASS.

umgl IV [ Part— IV

B TS &%) allenTHSERHED alleniwsilssa)i,
Answer all the questions 5X5=25

3. GlarBaEsiul Hsrsr poas Baasnrul S8 ooas whssn sarms sy Thdlemwd
sl bmsamiy  sEmsiuhs Soisdioy s,
(R ELEVER)
EarHEsil Harsr ooais Baassrulsda asraus o Wsiel s BaTsamers
BISSIE ST FPHGDION TIESHIF
On the outline map of the world, show the areas of world population density and
write a briefl account of them.

(or)
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On the outline map of the world, mark any 6 Million cities of world and write a brief
account of them.

35, susmirmaner srausuflaaili wpuwsTon ghEs @ CuBgsarin?

Lol )
wannflsir @smifas gpeowal & Gerurt s o fw L Sai s alloardEs.

What are the different ways of resources can be reused?
(or)
Elucidate Weber's Industrial location theory with suitable diagram.

36. QeSwraflar gpdadw Swryflsamar uny silamfss.
(mqsvag)
GlSsir arBamapii mpsiray SrwduTEssnan’ une aflflars almsgs,
Explain the major Languages of India
(or)
Describe any three functions of GIS in detail.

37 sraglena wrhinsslSrelamasmer allar s s,
(- etis i)
Sl GinFlrsfiarGurg demunmn Sausmgw Srwstalfamsralar & s,

Describe the effects of climate change.

(or)
Explain the rules of action during Stampeade.

38. @pFurallis &pod mipid srésn wdoTE srbs afersss.
(-mysisu i)
wryFTi s Sarflsailsdr armaiur el afluflssai,

Explain the Environmental Impact Assessment in India,

{or)
Describe the Genetic Classification of the boundaries.
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